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1.5% 0.7 — 1% 0.3 = 0.75m?

=0.7*1.53/12 — 0.3 % 13/12 = 0.1718m*

W, = W, = 0.1718/0.75 = 0.229m3

g, = 0.75 x 25 = 18.75kN /m

Méh

= 18.75 % 27?/8 = 1708.59kNm

My = 18.75 % 272 /8 + (60 + 150) =9 + 10 = 27? /8 = 4509.84kNm ;

g, = 0.90 * 1400 = 1260N /mm?

0, = 0.9 %1260 = 1134 N/mm?

0o = 0.75 % 1260 = 945 N /mm?

a =

N,/Ny = 0,/0, = 1.2

c}_\t =y 04f. =16 N/mm? G, =5, = 04/f . = 2.53N/mm?

1.2%N

50 1.2Ngo*0.65 1708.59

> —2530 kN /m?

0.75

0.229 0.229

1.2+ Ny  1.2% Ny *0.65  1708.59

= < 16000 kN /m?

0.75 - 0.229 0.229

Noo Ng*0.65 4509.84

0.75

Ne,

- —— < 16000 kN /m?
0.229 0.229

N, = 0.65 4509.59

+
0.75

0229~ 0229 > —2530 kN /m?

= Ng, <5532kN , N, <4686kN , N, = 2453kN , N, = 4114kN

4686kN = N,, = 4114kN
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T =N, = Ay, * f, = 4825 * 1400 = 6755000N

N'. = 0.85f . = [(b; — by,) * ty + by * y|
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C=0.85%40x*[(700 — 400) * 250 + 400 * y] = T = 6755000N
=y =309.19mm > t; = 250mm
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X = 085~ 363.75mm
600 600 1400 = 796
= * == * =
7500+ f, — 0, 600 + 1400 — 945 e

Xmax = 0.5x; = 0.5 %796 = 398mm > x = 363.75mm
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£5a = 0.003 + = = 0,003 * =212 = 0,00854
Aeall Ga 0o gl ol
e =22 9% 600472
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£, = 0.00854 + 0.00472 = 0.01326 > ¢, = gy: = 219 = 0,007

t
M,, = O+ 0.85f", [(bf —by) sty (d - Ef) 4 by, y * (d — 0.5%)
— 0.9 % 0.85 * 40
| 250
" [(700 —400) * 250 + (1400 - ——2—-> 1400 * 309.19

* (1400 — 0.5 = 309.19)} *107°% = 7639kNm

> M, =1.4%1875%272/8 + 1.4+ 150 %9 + 1.7 60 * 9 + 1.4 + 10 » 27 /8
= 6476kNm  Ok.
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